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INSTRUCTIONS TO CANDIDATES

1. Please check the Test B.nﬂklel immediately
on opening and ensure that it contains all the
100 multiple choice guestions printed on. it

2. Separate Dpticr;l Mark Reader (OMR) Answer
Sheet is supplied to you. The OMR Answer
Sheet consists of two copies i.e., the Original
Copy (Top Sheet) and Duplicate Copy (Bottom
Sheet). The OMR sheet contains Registered
Number/Hall Ticket Number, Paper Code,
Booklet Series, Venue Code, Signature of
the Candidate and Invigilator etc.

.Booklet or OMR Answer Sheet, please ask
the invigilator for replacement.

4. Since the answer sheets are 10 be scanned
(valued) with Optical Mark Scannér system,
the candidates have to USE BALL POINT PEN

blocks in the OMR Sheet including bubbling
the answers. Bubbling with pencil/Ink F:E-rr,i
Gel Pen is not permitted in the examination,

5, The Test Booklet is printed in four (4) Series,

yiz. A or B or C or D. The Series A Of Bor(C
or D is printed on the right-hand corner uf
the cover page of the Test Booklet: mMark yo!
Test Booklet Series on side 1 of the D.M
answer Sheet by darkening the appropria
circles with EIHE}BI;:k Bail pPoint Pen.

o TN

3. If there is any defect in the Question Paper |

(BLUE/BLACK) ONLY for filling the relevant|

Example to fill up the Booklet Series :

If your Test Booklet Series is-B, please filf as
shown below :

-Test Booklet Series

*
¢
©]

" If you have not marked the Test Booklet Series
. at'side 1 of the OMR Answer Sheet or marked

in @ way that it leads to discrepancy in
determining the. exact Test Booklet Series,
then, in all such coses, your Answer Sheet will
be invalidated without any further notice.

Each question is followed by. 4 answer

" . choices. Of these, you have 10 select one

correct answer and mark it on the Answer

. Sheet by darkening the appropriate circl_e
*for the guestion. If more than one circle 15

darkened, that answer will not be valued at
all. Use Blue/Black Ball Point -Pen to make
heavy black marks 10 fill the circle
completely. Make no other stray marks.
e.g. : If the answer for: Question No. 1 is
Answer choice (2), it should be marked as
follows:

T D @00
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What is the ank of Telangana in the 3 2T ﬁa‘&uﬁuﬁ‘ &m0
turmeric cultivation of India? | | S '
(1) Fourth (2) -Eighth (4) 465TE° P STy
(3) First | (4) Second - @ Rf«jght t?_‘ Education after 2002 took the
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(3) 20065¢3 T

Government
committee i
distribution of

Telangana and
was appainted
committee?

(1) B.N. Krishna

(3) KL Rao
Juerre. YoR Fooru 206

Lopso  R02000d |gposs* - 5709
289 DapDoded. ¢ g0t

n 1969 for. the inter-state
Krishna waler between

Andhra. regions. who
ag the Chairman of this

(2) Kumar Lalith
(4) R.S.Bachawa!
Hed

HEIa0 wE S
36 ™ D DoLAoHREE?
(1) DR-58 () arb b8

of India appointed 2.

A2)

LY

(3) ArEEOEROD T} (4) ST 4,
led

Which of the following W&
fir_lﬂm the list of Fund%menlnlmﬁeigl‘ls
through 44" Amendment of Indial

Constitution in 19787
I %1} Right to Pmpert;:.f

2) Right to Constituti edies -
, stitutional-Rem '
}3} Right to Elf]llﬂl;i;’l e

'149} Right to Freedom
786" 4435 Trampors 60 037
.
DY Do Jod & uhﬂﬁﬁ)"l"a Tl

28?

(1) eoh wrety
?&Pﬁ“d DODFG TR,
SardegY ey,

(3)

Sﬂ'iﬂr'c



Whic 5 | "
i ts wis

dﬂsgri ot the fﬂ"f‘wmg I'Igh s '«‘thﬂ 1

heart g, by D, p.R. Ambedkar &

soyl fthE C{lﬂiﬂl’-’ﬂﬂﬂl‘l
'8t to oo pggitutions! remedies

\ght to freedom of religion

ight to equality
li:iht -E.La"-.st exp]ﬂlmtlﬂn

TS Ano g ALL X

(1) Rj
{3} Ri

(4} Rig

issue a writ of- “Habeas Corpus”
vested with:

A. The Supreme Court

B. The High Courts

C. The Subordinate Courts

The correct answer is:"

(1) AandConly (2) A,BandC
(3) AandBonly (4) Band C only

mrﬂm Dabd U‘ﬁhﬁ'bﬁ pn A 1.

35 0o 828/388 wory6?

(A) 2EP  (B) Ppw
(C) Bebd grox Eoen

S0 DDFV ol DPS woruy
dodod _
(1) ACIP8®  (2) ABgC
(3) ABITED  (4) B.C angs

Series-C

In Indian Constitution, the power -- |

d L‘E the following In Lhmnﬂl Ollicg]

_ ann Commission
C. poi0-Marle Reforms
D, aMition of Bengal
The oo ta8U- Chelmsford Refor,
don Correct order is:

mwgmm#cﬁﬂs‘ W
W) 205 eay08

(B) Dok 59 ?bnﬁg_,w

©) 8orres Dzsees

D) aross- 38 0§ oy seen

$00 ﬁaﬁ'ﬂ 2ol RBR BIWA Jobs
Saiod:

() C.B,D. A
C. D, A

(2) C.B,A,D
(4) B,C,A,D

. 10. Which of the following committees i

related to Panchayati Raj system?
(1)_Zail Singh Committee

£ Balwanthrai Mehtha Committee
(3) Rajamannar Committee

(4) Santhanam Committee

48 shofos' Do Docrabdcs SR
- DoofedRs?

(1) B 2oh sh;at':n

(2) wugedtdd iror S

(3) caryb sod

(@) PoTrdo 208

Who among the followin
Amm%(f’nme Minister of India?
Gujral
g} H.D. Deve Gowda
Lal Bahadur Shastri
{4} Guljarilal Nanda
g Sob

TS D3 orombs pore AET
H0dFD?
(1) o80T
@ w54 3D T
o orErS vy
@ xS 20 8 Do

was an .
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Indig js Republic becgyg,..

country. _
It is a democratic poya,,

MM
Head of the state s Im'..rul, o
. ' ecled 10
stipulated tenure, |

(4) It has parliﬂmentary SYstem
o8 indod B0 Jogiyg o

(1)
(2)

fledgeg ey oy et
2)
(3)

g PEYIO Dysoy Ay,
Qararof VELSLo

”'w'ﬁa’iﬂ Ngd 00 gupt
vy Faordy.

@) Sgood Fud adya

Which of the following does NOT come
under the purview of ‘Judicial review*?
(1) Constitutional Amendments .
(2) International Contracts ang Treaties
(3) Acts of Parliaments ; h

(4) Acts of State Assemblies

& 300 TS AL HRE HosEte:
ToO8 A7

(1) ooejors H3deaen

(2) uaﬂgﬂbnﬁa 20T, Do

(3) g8 Stren
(4) T BRIV S2D Seren

One of the prominent Parsi reformers |

happened to be:
(1) Dadabhai Naoroji
(2) Bipin Chandra Pal

(3) Mahadev Govind Ranade
(4) D.K. Karve

RS008 -ﬁ?ﬂa N, 8" eddd:
) ool I8

(2) OB Sog DS g
(3) DTFBS BDods gna-
@) AB.sd U

16.

- Consider the fﬂ“ﬂw'nﬂ Pairg;:

A. Vallabhbhai -

| ]I:;Fhadul

Patel™ Muslim
B. Bahadur Yar - tates o
Jung _ Integrajio,

C. Kasim Razvi. - gy,
D. Shﬂik ' ]E_'I'nmu&
Abdulla Kashmir

- Which of the. above pairs 4

€ correctly
rmatched?
(1) Cand D only
(2) A'and C only
- (3) A and B only.
(4) Band Conly |
$00 &0y H6IVousod.
A, ég%ﬁﬁ L= QR
0ES. o Swhhd
ol Dbt
SROGEG L gmgesdd
' _?nﬁ Qo= A a:.wg:s':'éﬁ
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T"l.'l.'{'].l . ]'}-
“Naj o ;
Carly Pﬁl"tu:f"h-‘t‘rr}' Wi |1|'4'J'|""-"“"‘r‘| in the
(h Mﬂ\. 9405 by
(2) Khap, :mﬁd Ali Jinmah
h oy Shaukmhdu] Gaffar Khan
4) ALy Al
. ﬁ\-’ar‘]'
] W' agerd Voo
Eﬂﬁ-aﬁgé -
:ia}f%bméﬁ ob 2y
} ‘F&’_"%}’ﬁ A6 ard
(3) ﬁ"ﬂﬁ Hh
@ b es .
18. Matep the leluwiﬁg; :
ListtA 7 List-B
A. Peasant Armed 1. Malabar :“
Struggle : I
B. Deccan Riots 2. East Bengal !ﬁ '
C. PatnaMovement 3. Maharashtra™
D. Moplah Rebellion- 4. Telangana .
Choose the correct Answer:
Sod 4D BADOSoC:
: o
A -B
J'orde
CC. by adge 3, ooy
D. 3rd OO0ty 4. Buoy
.gn; DDV A0d D ar._m;'ra‘_i:- Jode |
Sosed: |
(1) A-3, B-4, C-2, D-1 |
{2':' P,.-.ﬂ»‘ B-3, C-1. D-2 | ]'
(3) A2, B-l, C-3. D4 J'
@ A-4, B3, C2 Dl ’
v
Series-C 6

| :‘Eim “ﬂmng the ﬁ‘”nwiug IE'”“'J!TL-.[]
mu;:fm”“ﬂﬂr Radio® in Hyderabag
Ll i€ the getivities 0f Nizam?
(2) ;Li'a Pulla Reddy
(3) N 'd Hasap,
4) Ka'mﬁan Rao Pawar
Mshng Murthy
S TS prod d0edoign,
| a.ﬂﬂm'-" & odomrdy?
(2) DS ipag
) TR TraYy) Db
(4] S0 2urg
Match the following;
List-1 List-II
A. Telangana University 1. 1985
B. 6:Point program 2. 2005
C. G.O.No. 610 3. 2006
D. Girglani Commission 4. 1973
: © . 5,200
Choose the correct p'airs:_
S0l D B0 0G0c.:
whor - adoe -l
A, dvorrer ahrdseye 1. 1985
B. ud Argre dgge 2. 2005
- C. B o 610 3. 2006
D. h&gﬂ_sbﬂb 4.1973
5.2001
206 DTV Aod ABGLY aTR
. Sohd dobed.:
iy :q-i B-3, C-4, D-2

() A-l, B-5,.C-2, D-4
(3) A-3, B4, C-1, D-5
(4) A-2. B4, C3, D]
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ghalla palace i, Hyqoranad  |24:  Consider the following pajrg:
#eraba A Associated = Komaram
with J Gdﬂ_ghﬂl Bheem
arca/ village

21.  The ChoV¥ M

was built bY:
Jung

.Dowla _ .
(2) ﬂfﬂ'l'mi Mulk B. Author = ©f = Kaloji
(3) Nizm"'"]' 'Prajala . Narayana *
(4) Salar Juns ‘ Manishi’ A Rao
& FTY FOG 4, C. Author of — Suravaram
P aoers . oD '‘Andhrula * Pratap
T 2’ Sanghika_ . . . Reddy
~ Charithra' .
(1) »eoad 0 Choose the cmTiEEt answer; o
. (1) Band Conly (2) Aand Conly
@) ops- &6 T - (3) A,BandC . (4) AdndB only
3) e 685 DG 306 2O (IORodBod, \
; : i A, 8'dord ordd - Bdodo &o
(4) derbaod ) &

::uqanﬂaba T

. & £ € ek -
22.  The ‘first Granthalaya Mahasabha’ was B. 'pze &0 s

held in February, 1925 at SDoDIG - S Torole oD
(1) Madhira (2) Nizamabad C. 'wogpw ~ Aodvg - RODTo porh
. (3) Warangal (4) Medak | dﬂg':::: 5D0DS0 aa

D0, 19250° G GorrogBRies 30 DANSW m::-r.‘.‘. DOGLA BTN .
2003 Podo: | Sobg Sctood

(1) 286 . (2) Jdwdrwd (1) B,Cargd (2) A Cargd

af oo [ (4) Docst (3) A,B,C 47 A B argd

3. Who 4 i 5o British R.esi dency in 25. - What was the major cultural fﬁrm that .

Hyderabad during the 1857 revol” i i Mot deiag ot S

(1) Turrebaj Khan (2) Kafi Khan period? : : - :

(3) Shitab Khan  (4) Afzal Khen (1) Lolli ~ 42) Dhoom Dhaam

(3) Garjana (4) Sankharavam

1857 Sdbrberey Basapes TETTE
' : 2009 edddo Bvorn GO0 s

S'D D85 abaha A J505?

NS TS BlC B a0AD Fot),08 6rdo D6?
(1) 8Brdars  (2) b o (1) &8 (2) Grogro
3) Hod i e | ' I
(3) oS (@) .epd 2R (3) ags - (4) HoarTrdo

17471 7 Series-C



26.

27.

Series-C

&

L " I1

] -undl.l:..t_r.,r.l 0

Which ..':thdtmn wis dL'l"' - base?
“Tankbund™ of H}.'[_h,r.]b*i -

[I} Million March

(2) Sadak Eundh

(3) Sagara Haram

(4) SakalaJana Bheri
irsoer &9 tnjol o Sogorr 2009
esolVS DO?

(Y oS arby (2) VES 200

(3) ddoFso  (4) D0 a3 Fo

One of the following is NOT part of the

Tenth Schedule of-the Andhra Pradesh |

Reorganization Act, 2014:
(1) Telugu Academy
(2) Telugu University

(3) State Institute of Hotel Maﬁagement -'

and Catering Technu]ngy

| {4] State- Institute of Health and Family

Welfare " 0
Sod o8BS D8 wognds

DITGIVEON Sy, 20145 HE QTS
&* wodtryrio S°¢? |

(1) denrd> wsvi.

(2) ﬁwm D Degoodo

BF 36 2Dl b 298 2006 wog |

s*806 Ssmy o |
4) 26 m:rgwsﬁ b e wolki g
LN *

29.

()

hllmu-., I‘-*iuLL for wf:-m{u‘l t“_'l’ﬁ
Te Llng}m‘m

K"Iullllliaka (2) Pocharam

- @) Puchmnpa]ly (4) Nirmal

(D) In 2

B0omast guz, S SUr08 gy

2009 Froso HA?
(1) Sosodeg (2) Dede
(3) Fsond @GS

How and where did Shankar a |7 year
old ‘boy, the first marty of [99
Telangana movement die?

(1) Inapolice firing at Sadasivapel

call for fast on tnrdeam at
Khammam

- (3) Inapolice firing at Khammam

{4] In'a police ﬁr'ing at Hyderabad
1969 Qeorred 'aﬁaﬁm &8 eszpadn, 1

SERL A #0586 Der, <) ¢ So6ciomrd!

(1) '*3’5!‘9333?-3;%5‘. 2005 D5 s-t.u:,bﬁ'

AL

2) oS’ ©wREm oo

Heipd’
(3) mm;’nﬁ‘ 2OOD ag by sy

oS
g porrs & uepd  af 20

“) £

7 gtﬂjﬂé‘
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n w »

D.

Match (he following in relation, th

Works and their author:
List-A

laada l.

Aathadu 2. Nandigam

g '“"mx'inf-

Ampashaiah 3.

O o wp

Naaluygy  Kaalla 4.

- Nyayam
Choose the comect answer:

Sod Busdwa, T8 dloudu BOOGs0a.
Do -A LAl

ol : 1. B0 n-gmha

m gaa‘bl;b

ADS

0 T _ 2.

S 5

AL E-q:, a';&aﬁ.m 4,

Sod nﬂas'u_mod :Sga BIM0A Qo diabod,

31.

(1) A-l. B3, C4, D-2
(2) A-l1, B-3, C-2. D4
(37" A-3, B-1, C4, D-2
(4) A-3, B-1. C-2, D4

Match the following in relation to handloom
styles and their places:
List-A -
Ikat
Gollabhama
Border inter locking 3, Pochampally

. Carpets « 4. Gadwal
hoose the comrect Answer- -

List-B
1. Siddipet
2. Warangal

QuNw»

S26 A2rTe, P doird RO a2oD0Ss:

Do -A

faﬂbé
Feerao

- wdor -B

& hﬁbﬁ:

2. Soories

Sofods 3. Psond

ST Dew 4o

S0 DAV el :JQ-‘& B 08
Hobed:

(1) A-3, B-l, C4, D2 B
(2) A-3. B-l. C2. Dy

(3p-A-4. B2, C-3, p.
A-1. B-3. C4, Do

o O & _»
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al.

33

Who is the Jyricist ol TEJ“'u B

Rime I8 HEERnd -~ Eiu:ﬂ:i. Rim i,
Zindabad™ Wy
(1) B. Narsing Rao

(2) Suddala Haﬂ!lmﬂlllhu

(3) “Dasarathi Km‘h"amﬁﬂha;ﬂ .

(4) Dr. C. Narayand Reddy

05 B5 ,-_-,5_-, 2 Ptung V4
gomrerd ©d WML Ny o ¢
56 '

(1) D. 360t TD

(2) *ogro T

13y o860 §RITE

4) b, roabn Oe

One of the following is a typical Telangana an
form: : .

(1), Toorpu Ramayanam  (2) Mandechchula kajha
(3) Bhamakalapam © ° (4) Satya Harischandrg

& 208 T8S DO Duorre DuLn Svdrag?
(1) drddy Trarabeo pi/:ammausd
() - gerdo | (4) Dy 0y

The major objectives - of *KCR Kils' scheme
from among the following are:

A. To promote institutional delivery in the state
B. To encourage the births

C. To reduce infant mortality rate and matemal
mortality rate

The correct objectives are:

(1} AandConly ) A.BandC

(3) Aand B only (4) Biand C only
300 OS" ‘TN 2k DSy pord BETY
207 |

)

U‘E‘S‘ ﬁﬂé'ﬁu 9‘-'\3'-7;)!.:-:‘:.:- gﬂ.}bpﬁdu

S BRROR 'S oo

Lo 380 066 m 570 A0
LR oo

S8 o1 $
_ :'3*5"_” "’-“ﬂi 233 wowd M
S
:3: hca"ﬂ?ﬂ 2) A o’
MBIL () poae®



36.

serles-C

Whie

Wag L:;LE 9T e tollowing cities in India

Awarﬂ,"'afde.ﬂ the 'Best Heritage City

Tourign. 2Y the Union Ministry of

(1) AIH tor the year 201 5-162

(3) AT (2) Delhi

5 015, Il'lEﬂahad 4) Wﬂrﬂngal |
b ﬁaaahnvnén'-‘w'-‘-" Sog voges |

%@ﬁsh

S0 B D 3023 ‘g
PO B} TO8E 14y
PTEN 0oy, aon?

(1) S

Read the following statements oy theé';f

L
Aasary Pension’ scheme of Telangana
Eﬂ\’ﬁmmﬁm: |

- The government introduced ¥ | g’
Pension per month for single -
Women in the state.

€ state " government provides
¥ 1,500 per month for disabled
Persons of poor families in'the state. p
hoose the correct statements: R4
(1) A only (2) Bonly
(3) Both Aand B (4) I’_*lEithE:rAnﬂrE!

Vo R edTe RS DL ém:

DOORO Sded: _ |

A B8  wold | Airved dos
ar.1,000 adocrod ~ganoded.

B. 2adg D evonsy dswrorbon
AUD 611,500 Sy 3G,

800 DINTV Wod BPH worwd Jods

Bosod: |

(1 29060 ARgdn,

(2) D6 BRI

(3) DVOAL A 08ak B Jocr ©PHD

(4) Docaw AMBM.‘Q&:}E@

10

37.

38.

() To

The Government of Telangana hys taken
4 decision to open a fabric to fabric (end

' end), the biggest textile park i o,
EL‘IUHII’}’ at:

¢
(1 Warangal (2) Karimngg,,

(3) Mahabubnagar (4) Nalgonda
Quorrg ma E0a0 r ﬁgé Aol 3»5@5
0D (78 daird) FOOASI Bfods oy
9N Dogve -;.;,:m;j‘n'.ﬁl{ﬂéﬁ 8¢5 &‘56’
I8)6 Doy SairoDd Aganodod?

W 3o (2) €6osnb

() trard 346 (4) HFod

What is the major ﬁhjective of Mission

Bhageeratha scheme from among the
tollowing?

(I) To provide employment for one
lakh youth.

construct 1000 residential
hostels for school students.

(3) To provide irrigation to 10 lakh
acres of ayacut,

(4) To provide piped safe drinking
water.,

Sob TOS DS Bhoe pER adto

22 |

(1) chbodss of adimes £dyocseco

(2) ove :}E‘;ggu;é:. '1 000 32 dyrfen
t::ﬁ:gﬁj ~0) oo

) 10 vge dgores Feh Hh sotosco

é‘}' PV T Sdd 2od DA
wolodito
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"B. It

WIliCh {'r'l'b thE. EFI*I{JWIHE is u:-.;-ruut 3
patriarchal so¢1€ty |

(1) Female dn_n'unatcd society

(2) Male dominated society

(3) Agﬁculiqraf society
(4) Nuclear family -

3::3;&)«5:_\:5 2ATEPAS Qoo 200
TSt Do 2FHG?

(1) Jolrye BODS] VTR0

(2) P wddY] Vdrao

(3) Sgdrab DO

(3 D) Hroowo RFGEAHE D)

Read the following statements about
Indian Constitution:

A. It gives official status to one religion,
individuals

provides .to all
freedom to profess any religion,

C. It prohibits discrimination
grounds of religion.

Choose the correct answer:

{() BandConly (2) A,BandC

(3) AandBonly (4) A and Conly

OO TrerRd Dowodod Sob
DS dr:ﬁ_ﬁ:rm;‘.: :

A. 08 Turforo wE S0P ©OSS

ERD R0,

B. s orerjecio g h@;p 2007y
L0 OCHTRS ﬂﬁ;@g‘q RS0 @08,
C. 208 Tarfordo 200 esgrdort DILO

- ;ﬁJ‘Sﬁm‘-&E‘_‘ﬂl ﬂhﬁ'{puﬂ,

£ 200 DAYTO Wod P warERd JoDS

aodbod:

(1) B,C 278 389
(2) A.B,C 2930 '
(3) A.Bargd d3sn
(4) A.Carsd DB

on |

41.

42,

43,

%) bo egs

- Assembly was repres

cles -
which ric of the

{'mlstituti{lﬁ- iEr'lI‘ﬁ;?IHEEs .Eq“ﬂlill;a!dlan
‘fundamental f LZ S 1N Ingig ™
(1) Articles 20, = and 27

(2) Articles 29, : and 3

[5) Articles 145 é:& and |

(4)- Articles 18, 22 and 24

L o) bﬁ:ﬁ-‘fﬁf-*ﬂ‘sai St S
o ﬂ'ﬁ‘;sﬂﬁﬁ"-s‘-:" D. 0%t ﬁba::;
ir‘f‘éﬁnﬁﬂl W?WQ

(1) Rsdmen 20, 23, 27

(2) psdmen 29, 30.31A

(3 “Sgonen 14,15.16

(4) psome 18,22, 24

Parsis community in the Indian Constituent
ented by:-

(1) Homi Jehangir Bhabha

(2) Minoo Masant

(3) H.P. Mody

(4) Ardeshir Darabshaw Shroff

roadE ‘Tarjers whod)' & by sdurds
o D3 FOVGS[0 SIPOTL?
(1) oo 28rohS evere

(2) Dar 2y

(3 TSdara

(4) 306 csod 5

The state government of Telangand
launched a dedicated programme ©
Prevent child traﬁicking and to rescue
child laboyr called:
Ujwala

n
(3) Roshni S ity

(4) GramaJyoth!
Sireey, o0 5%
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46.

ser*"’c _ ?1
H

g"‘ BRICs summit was "
Plember 3.5 2017 at

(1) Brasilig, Brazil

(2) Moscow, Russia

(3) Kiamen, China

(4) Hong Kong, China

BRow6 35, 2017 soe w00d 90 0 |

Dbzl oy, Racstooy BOND ©A%0

|
{
|

(1) 2hBasr, gaes ) 7635 48,

(3) ghw-ﬂﬂ‘ (4) SFoh srof. P

In which city, BWF Senior Badminton
World Championships are held?

(1) Kochi, India

(2) Kolkata, India

(3) Helsinborg, Sweden

(4) Ankara, Turkey !
D.égrdd. DAL  amgdiod B 1|
rotaiS :::I.'.'-J 5 Arides’ aomow?
(1) Edy, wocalr

(2) Eu)or, Rodolr
3y T0yS 0§ DES
(4) eoso &0

The Chairman-cum-Managing Ditecm 4
{CMD] of NNM.D.C. is g
(1) Bharthi S. Sihag

2) N.Baijendra Kumar

(3) pirender Singh
(4) Rand Some

058 0508 2500 oo Bvﬁam . '::;
{” ;;ldt? Jh.b#ﬁm aﬁ_m

0 HBocsd Db (4) o oy,

First female pregident of Singapore i
(1) Clairt(‘hiang (2) Merty Riany
() OfiviaLym  (4) HalimahYaegy
NG &8 pyesam STV OEFRTW dagy
(1) pand dasros (2) - =08 Or
3) wddasr s A9 D> oirgrs

International Day of Democracy g
celebrated every year On

(1) 15" September

(2) 2™ October

(3) 5™ September

(4) 8" September =
vodgraah LAY
2BERDDOO JDyE?

(1) oRows 15

SIS

(2) ofwb?2

4) b@m&s

(3) Dypowd S

As per the release of RBI on {5"‘
September, 2017, India’s foreig
exchange reserves stood at around

(1) $350 billions  (2) $400 billions
(3) $250 billions  (4) $300 billions

nponb 15, 2017 =8 eroban b
ol DI LS Bo, erodBY DAY dr0E

1) 350 HDALS O
) 400 HBADD RO

(3) 250 HODS o

17471
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51.

52.
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The island of LﬂkSIm
€en vanished due to en

(1) Thinnakara 1
(3) Parali | (4) pa:.::ff"““‘

, s gjte o
Ggdo DOBTV0 LONE? -

Weep
thy
ﬂ.s 5 l I'“ 2

(1) A3y €6
(3) Bod

In 2018 World University Rankine
which university got the top rants "

(1) University of Oxford

(2) University of Cambridge

£3) Stanford University

(4) Harvard University

Dot DFDEEoOD D‘ﬁuﬁaﬁﬁ 0188 D
D Do PO Q‘sﬁn Toded?

(1) clrdIeye ud ey DY

(2) nmnhnﬁé D 80§

(3) 5 0§ carIBCYES

(4) 6§ ar S0y

As per RBI's statement 0N
15, 2017, the ‘current accour b
(CAD) as percentage of GDP in

‘quarter of 2017-18 is -
ngows 15, 2017 8 oo _IE'
I8 :bﬂ:’d:ld'l}

E.I"]'Eﬂé Dddn Ls°do, 2017- fod 5
A DIFRES’ o .éwa;b&
Bols T O (6308 I

i) 1.9%
EJ,] 1.2%

first

(2) 2.4%

(4) 1:5% 13

(3) AandB only

Consider the _f“l,lﬂ"f”'ng
Osmania University:
A. Dsnlﬂlliﬁ UI'I!"-"L‘I‘S][F i A
its founder MIF Osmany
g Nizam of ligr?l .
B. The land on Which the i . -
today was originally Jﬂgrﬁlmf
Laga Chanda, 8 WOman ooy, U
Osmania Uﬂl‘-"!ﬂrﬁit}' s T it
country and 3" Old&stin Souh gia

m relation o

amed after
Al Baig, fhe

D. Sir Akbar Hydrl, then Home Sceretqry

of the Government was iﬂﬂtl'umfnm]
in submitting. a memorandum to
establish a university,

Select the correct statements:

1) A BandDonly (2) B.Cand D only
b (4) Band C only

G Dodr ﬁﬂb&ﬂd‘,ﬂf-ﬂﬂﬁi‘ﬁé Ro20800) 406

Daairen Ho7dodec: '

A aTed DD o D adydatr
0 B HPOFODD TGl 0D
Hd &) D D Sﬂamiraﬁ s

B 3Dyod.

B. =08 &) Doy aﬁgnuﬁmm ara
TRDE werd sSdawd N OF
Hotrd Dod wg A,

4y ﬁﬂﬁé’:}uﬁr D Do é"b@ﬂ
S Bto Bwdors® Hesd T, 68
58 B30 Jarcs e A

D. - esoy®d Dzsod vl 7 SR o6 o8y
78 D¥Djuoirdy Frivaed o O
DERY P08yod SeE 0380 STe

808 D50 K0l 13 ey HS ool

(1) A, B 2&o8cin D srasdo '

(2) B, C svéoiw D g

(3) AS6oin B Argd

A1) B so8ciw C Ao
. : Sgriti*c
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|_|‘:1:d as -
Example for {0 ““{,;idﬂf:t aﬁ'ﬂuu:d:
Protectant begype platt B rates
(1) H}'ﬁl‘ﬂtuq“xl {'?':I Nlii hur
(3) Carbon 4. S ol
:IJ.J-EEJU"E ‘Ehoé mﬁﬂﬁiﬁ:’ S |'cid‘¢}
SOAFNed  phog o8 (e

o

S0,

(1) &b,
(3) s6y%0 @ 030 L
ents

Which of the folloWiné S;Et-elgg:- y?
iﬂ.rrect about cloned ammal mal and

It 15 th lone
e first cl0
I is done

d;éoff

@ 266

this experiment !
Wilmut et al.
B.. These expernats ¢ b
osylin laboratori€s 11 =2 2
C. Dolly was bom o1 July 5 1996 and
died on Feb 14, 2013.
The correct statements are:
(1) A and C only A,BandC

(3) A and B only (4) B and L'_‘_nn]}"_ .q'
o ook dowwdd D8R

+ f-:'b'

“oodHot)d Sob .'Jaﬁﬁfﬁ-‘é' B 2074 Il- .
jooruds’ W0

200QD0GE0 500050 RO :ﬁ-ué’ﬁ

A. Eob Bobadd

OB & PATT Aard.
B, 245 0 &' §505 pardred’ &
| AP 3.

c. =g 5 1996 o a.ﬂ.-:‘.i&qa‘a ‘b

252090 14, 2013 7reo 206ckodod.
200 DSV Aol DPY 2R Jod

;‘jﬂiﬂﬂd: .
(1) A 200080 C ardad

(3) A S06cdin B Argly

serleﬁ'c

56.

by Jan

e cgﬂdlﬂ:tﬂj at |

|58

— y

14

57.

59, Observe the

I .
l::::lmmtnl used
Mperatyre j-

Cismograph  (2) X
‘ 10gr: 2} Avlome
) Pthcﬂpu (4) Pymme:::

Lty
108 eTgoss EwdEdd ang
FS30;

for measuring Very |
't

Q27 D" Do

(0 hﬁﬁé’ T
3) M5 @) 8 huws

Deficiency of- the following v
Causes sm?wyi;liﬁﬂelase:ﬂ ) N
(1) Vitamin C (2) VitaminD
(3) Vitamin A (4) VitaminB
308 TOS H DHWS Do S03 &

o T Serso0d?
(1) dodos C (2) DoSD
(3) DEWS A ) DBOB

' Which of the following is NOT &
necessary micro-nutrient to trees?
(1) Sodium (2) Copper
(3) Boron (4) Zinc
& 308 TBS DO HFUD S0y I

ATE) Ao SPE07
iy oo
3) Sod

. (2) s

(4) 205
following plants and find
out which plants propagate throv

branch cutting? -
1) Cocoa, Cmnﬂhﬂnﬂ&ﬂuugamwﬂtaiﬂ'.

(2) Grapes, Bougainvillea, Camatior

and Cocoa
3) Bﬂugailwi]‘.lea_unly ‘
(4) Camations & Bougainl

dold b 2w
1) g, E‘ﬁif’.lﬁ;), Sus ooir ard?
e £65 DDoIT, s*iﬂ;‘-'ﬂn‘h-gg

(3) 80 HOoIe MG

. o 378
) 58y 00y £S5 DHAT i



[ndi a‘q f'-
» 11Tst Ellp co
5) $AGA 5 parAMigno
E.F' oy Hﬂ' 'D
88D 80 1arpg SO 8 niﬂ
aﬁﬁfdﬂﬁ@nm'}
1 | .
() Qg T g
61 g ) 6% 3009
| WE::E]:'?GF e following i oy 2 primary
ellow
HW Blue (4) Green
&S00 TSt B8 300 5294 a0
(3) DD Gorty (4) esesy N
62. The Newton's first law 15 also referred
as: . ._
(1) Law of moments [}T/Ijaw of motion
(3) Law ofinertia (4) Law of friction
RO Doocsed NrEEy d0m 26 obreiy?
(1) o (Qordooby) drde
(2) Sod drge
- (3) H-rﬁl.ﬂs o
(4) g WQG_
63. India’s. first unmanned ‘lunar probe |
- Chandrayan-1 was Iaun_ched from:
(1) Balasore
(2) Sriharikota
(3) Thiruvananthapuram
4) Wheeler Island
i:u;;ﬁﬁ?‘-a S0  Sradsire dééﬂ#'
0T OIPGo SogodrS-1 2 KA
S0l PAFNTD?
(1) wreels 11{33"55‘“
(3). BEODJBDG0 (4) Db bgoe
: _ i
17471

'165. . One of the very iMportyy,

64. The Disaster Mmm@’-‘ﬂmn

ia in th ' Ag i
enacted 1n _]“d'a € year. 2

wdaﬂ_%né" 5’”*—?“? adﬁ""ﬁ Q'E‘“ Oy

Nodddo: -

(1) 2007 (2) 2008
37 2005 (4). 2004

- . “Oncemg of
sustainable development j..

(1) .The carrying capacit}f’uf the mas.
made system 1n the shoy un,

'(2] The can-yin_g. capacity of the Natura|
system in the short g,

(3) The carrying’ capacit.}r of the man-
. made system in the long run,

(4) The carrying capacity of the natural
~ system in'the long rup,

RODCRS RO RS 2svh
W8S DowoBeds o« DTV Loko
S00 T8t BnE g &330080?

D Bsoysecst 202h &Y A

R FTOR) Aratbry Favgo

) hﬂ“ﬁ‘*-’ﬂ!? ST

a"ﬂt:}l %ﬁu D o6 DE'D
(4] & EE‘QJQE?



66
* Stage
3 i un - .
Eﬂ' [*EESL?E?selwted which of the
ﬂlﬁc{:wm ] ‘3“111]-.;1“'135 to procure 10,
(1) Nige Shicles (EVS)? |
2 ]ESE“! Maotor [ndia Pvt. Ltd.
(3) Ma“f“ Suzukj India Ltd.
(4) Taa[g",l:fra & Mahi:;ﬂra Limited
Otors Limit
T &'%E Tyt EVs) Sdofen o

=

SO0 TS Y gy dodod?

T T |

@) ared Rowd godalir BLBE
) obrog & sires DIOE

@) erer rersy DBE
67.

¢ Planning Commission set upiad 44
working group to; N
(1) Examine the of leasing oub "

-

degraded forest land to private pla

(2) Explore the ways of controlling solf§

erosion across India.
(3) Explore the prospects
benefits of forests in India.
the _ prospects
afforestation in India. :

(4) Examine

02 DoB3dG VFPS Swod BT VS Do
208 S D aBto S0 ws 50,06 arS"

“

A0 Doryen BSeb?

(1) 43008 ewd araved Sws gl

essTo D0Iboddo .

=

dnos ©OSEERE OIS S
@Lﬁgbnddu ' __

(3) wﬁw BEDO IY oATERl

250l WOTTTOR R R0cco

| ,/fﬂ{ ro0deeS VIS0 "

» ww

series-C

gfficiency Services |

of increasing the "

S

During the Ninth Five Year Plan period. '

]I‘l | ;
"ﬂ!a U“E : .

v ' of thE Suﬁlﬂiﬂﬂh :

(1) ":U Ment Goals® proposes to: .

ﬂd p{“I" i : )
- verty and deprivatioy i al

.
(2) ﬂFfr_:r large amounts of subsiigs ,
the ndustrialists :

(3) Increase the number of rich pegple
In the country '

) Go in for highly ‘merchandiseg
Methods of production

TO0Be' cipopes wDSG ewpps

QOPBosnds SO6° 28t

U %) 6536t baosa), oz D)
aﬁ?&ﬂmﬁ-ﬁn

(2) 20800 DY Awgrod® A0
Wi |
(3) B806" B3B0BoL Dows Doddo

(4) wog Dgab &dND DGV
(TRl

The distraction of forests may mainly
|ead 1o one of the following:

(1) Decreasing temperature
(2) Increase soil erosion
(3) increasing the inte

Eﬁﬂlﬂ & " "
(4) [ncreasing the humidity of air

DY nrtde p@der $0d
534:76*5&”5’?

nsity of floods
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Cleaﬁllg of

i forestg
“"'!Pﬂrtam]y; .

|F_~;1 .
dg i

Damage to the €Coloy; e
(2) Loss for the rich Steal bﬂlam:&
(3) Damage to the agriculyy,,,
(4) Damage to industrial jey;. . “lVitig
. Witieg
VR J0ddobcto au%%
3 9
QTR0 D &HhS0a? :}9
L Dovsde vavdoond.
§ S AL E&ua Botea
(2) G3B0s00% 830 2dhesy
(3) iﬁ_ﬁi‘:ﬁ‘ﬁi‘l ?dgﬁﬂ*&us;,. | 5
. . o
TR0 _ )
(4) &n.:.gumg -sfdaﬂv.wfruss g\;&q
ﬁ*é&&uﬂanﬁ

The main plank of the National Forest
Policy, 1988 is:

A. Protection of forests
-B. Conservation of forests

C. Development of forests
The correct answer is:

(1) AandConly (2) A,BandC
(3) Aand Bonly (4) BandC only
A0 WD Dgrde. 1088 WS

SARINR oo

(A) wcHod sdoddo
(B) ‘060 Jdobiocsco (Eonbd)
(C) edDousn uaaﬁg'amau

200 DDYT® ol 1S e N

Sodod:

(1) A S0003» C dargdy
“2J A, B&oboswC -
(3) Addain B drgdy
(4) B 2008w C gy

7.

17

() Bo¥

73.

According to the_fﬂPﬂ“‘ Telegge
Ministry of Environmen g
changes On Augug |

© Chimate : %00
which state has the hli-_.hem Number ;r:f
elephants? .

(1) Kerala - (2) Madhy, i,
(3) Assam (4) Kam&taka

oS80, VEDW: TNy Ay
5008 T B0 120 200 3y g0
a3 DBOS 500, D TRo8 Yy,
w308 LowyS’ &) o007

(2) G A%

(3) ©>yo (4) soybg

Which of the following temples in India
was adjudged as the cleanest iconic
place under 'Swachhta Hi Seyy

~(cleanliness is service) programme by

the Union government?
(1) Tirumala Tirupathi Devestanam,

Tirupati

(2) The Golden Temple, Amritsar

() Sri  Meenakshi  Sundareswarar
Temple, Madurai

(4) Taj Mahal, Agra

S8 pmece o9 By B
- (3ogsorr, Rgyorr Goscdo L bo%
S8 TOSHISD D pad Howedd

O pdee $R%  owds Pr
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78.

Gr

ﬂﬂ?}TEr IMportanc

(1 r?.]s'tati““ in the:
Inth gpq Tenth Plans only

(2

{31‘_: %ﬂ““d Plan only

(4) Sfﬁh and Sjxth Plans only
1Xth Play onwards

%55:5% was g‘;:-.aﬁn_'
PO gy,

D) 93, 105 geposws® arg®
(2) 23 orposs® Srai

(3) 53,60 perosos’ argdd
1 63 ormog ool

e WaS accord

ol 10

gy ooy

The Government is prioritizing 0
improve  environmental development
with respect to: : .
(1) Labour intensive, capital intensive

etc. methods used Y

(2) Productive fertilizers to be i \ '
(3) Water, air, soil and the biospi

treating the challenge of dlimate |

change. 'y
(4) Profit, output per unit' of capital,
output per unit of labour used

200 TBS' D8 Dowodod '?‘F"L"S“
oo 903G STyE. dsuos
Fordger §87R) ATy dhod?
(1Y 80 Fogs,  Prusd Boge,
AndUm DGR ol T
2 GO BEOTy  OrabY s
Bl _

|

E |77,

18

76.

78. To avoid diversion of forests

The Union Minister for E'Wi’““mfzm
fﬂrﬂ'ﬂt_ﬂnd Climate change, ﬁ'nl’]‘l tl'll;
Ollowing j:

(1) Harsh Vardhan

(2) Ananth Kumar

(3) Prakash javadekar

800 o o DTYNOR. wddw,
TEI00 drdoy T 2008 Jd?

(1) ¢ -‘:rg{a (2) 9508 ©APE
Oh asdgs  (4) DO 60
Minerals are:

(1) notso important resource
(2) Offshore resources only -
(3) anon-renewable resource
(4) a renewable resource

DAL WD

(1) wodd HEvd0 SR HIH
(2) 63 23w SrGD

(3) DADBYY BT ddD

(Y 20503, Q Bodorie HIHED
land to

qon-forest purposes, the Government of

India passed the: _
(1) National Forest Policy

1952
(2) National Forest (Conservation) Act,

1995 1
3) Forest [Cﬂnsewatmn) Act, 1980

'E4} National Forest Policy Resolution,

1988
pid GrBNO wbdchos GRTvR /

STV iﬁiﬂaoé-ﬂ‘:}l 08 BoseS
00 HEB0 9 Sy BDol?

1y enbow oD D 870, 1957
5y erdos> oD (OdLE) a0, 1993

) o OO B0 1980

A s b Dovs doryde 1988

17471

Resolution,
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80. Which of the follows £ R dable
waste ? owing is a biodegra
(1) Food waste . (2) polythene waste
©3) Glass waste E‘-ﬂ Plag:;tic waste
& Sofy TS 2 D65 M‘-:_Jn =i ':’52
'-':n-g{, D o
81 Eni TN @) Fysage
' fﬂrzsitia': With highest percﬁmagﬂ of
(1) Assam _
Cogonrind & Moran
(1) E:a»:}ﬂ A
#l g (4) Dod'do
17471

Read the following Sehtengg..
A. The Internationg -

Preservation of @ ay -,
observed every year ;:{*“S'i Laye, tor

B. The theme for the 4, t""}“hq” .:35
(2017) is 'caring for all l‘:hla bl
the sun', : ife Undey

Choose the correct st‘altam.&mm.

(1) Aonly (2) By

(3) BothAandB (4) ‘Neithzr A

S0b DddnwHA Sddod: Mor B

-

A, ‘eodgrdod LED DOGEm B aﬁg{}

odd~go Wed 16, UK S0kng,
2017 DoddGD & ﬁﬁh:-. '-'5‘-'5655:1
(S0) : “800h 1O &S B worf « Bg
(BrBHvopion) @y Bdus =g
Brns sdo). -

B.

206 DDy Wod RBY aswy
oS thabod:

(1) A argdo 2558
(2) B argdo 2gse .
~ETA 00050 B Bodir 25859

(4) A 200050 B Botr 38D 5

19

83.

84,

Soil erosion can be Fr“”f’“tﬁd by:
(1) Removal of "-fﬂ-’z""'t““ﬂn

(2) Over grazin g

(3) Increasing bird POPUlatipn
(4) Afforestation

drgosrRy @0 Sow

ODesorn
:};}"Gmﬁ:}mt‘f
(1) D8 oD DEFPYN

(2) By oD VOSe dabie

(3) DHw 2TrYr Do

ga/ wHDSEn

International -~ Tsunami  Information
- Centre is in: _

(1) Tokyo (2) Jakarta

(3) Honolulu (4) Goa

©VOBTACH WP DATTE Togo

&oly?
/m/éf'?ﬁ

() FSurw

9
1 ’

(2) a2z

(4) R

The black mﬁqn soils of India belongsto
(1) Cher{mzern group

(2) Alluvial group

() Laterite group

(4) Podozol group
TOODIS' Y ol By oY ¢
RRFFE Dod.
) BBy B8R vaarave
2) “Wﬁnﬁaﬁ, RBIrEro
@), 'ﬂhgﬁ "q-‘.rhl.*mfmn
@) TS Bsamire
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86.

L]

Mat.
is:h the following:
A T, (Doab) List-B {Rivcri}
B, Sist . Ravi & Chen®
C. Bar 2 Chenab & Jhel¥
D. Chy 3. Beas & Ravl
C}{ Rechana 4, Beas & Sutly)
. 00se the correct answer:
308 gy pa0S0l:
, ey @&s) List-B (20)
Aoy 1. ovD Ho06E b
B. oo =, Aard 000 suo

3. Dosrd 430050 T

300 A Ew Aol VPO BTLI dods
Bosod:

(1) A-2, B-1, C-4, D-3
(2) A-3, B-4, C-1, D-2
B) A-4, B3, C-2, D-1

(4) A-1, B-2, C-3, D4

The Tropic of Cancer will-NOT. pass
through this state: ~ :

(1) Meghalaya (2) Gujarat

43) Bihar (4) Mizoram
gom),0¢ B D oo 005 DVyeso?

(1) Aoprrecid (2) uocd

(3) D6 (4) &'do

The Atomic power station located in the
state of Gujarat is |

(1) Kaiga (2) Kakrapara

(3) Kalpakkam  (4) Narora
Koewod & B0 V08 Soge S,

(1) g™ S wgng
(3) SO (4) 38

serie*

4. Dosrb Sooakn P8

20

88.

© AL erere RA0EaD-

Match the following

List-A (industry) 158 WLocagygy
A. Tata lron & . Bhadrﬂa”ﬂhi
Steel Co. .
B. Indian lron & 2. Vlﬁﬂkhﬂpalnam
Steel Co.

C. Vishweswaraiah 3. Jamshedpy;
Iron & Steel :

D. Vishakhapatnam - 4. Bumnpur
Iron & Steel

Choose the correct answer:

& 308 TPBD BOOOSGE!
List-A (ﬁn'érrﬁﬂ}  ListB (0B%0)
1. rod
&), SO o0
B. zrodod 2. DTpdbyo
RAVE- GD),
Q_U‘j&rrda
C, 5*5*5@5 - 3. ol 2rb
RRVBN- G,
60‘@)1‘?15{:-
D. dvadd)o 4'-3}51 oyb
a0~ ag;b
gorymoo
2ol DUNSV Aok VD 23,000 Jow®
Aodok:

A-3. B-4, C-1, D-2

() A2. B3, C-4, DI

(3) A-4, B-1,.C-2, D-3

4) A-1, _E-Z, C-3, D-4
1747



89.
Mateh the following:
List-A

Maximum pmd}l‘:ﬁ““ of W
A A {H “IE) {Et LIH..E 91- f{}m‘ld in wh'lﬂh of thm}g%ﬂﬁge e
+ Ananthagiri Hills ¥

(D ots 0 Tela,, Ollow,
1 il erstwhile distn€ igangy NG
B. Kandikal Hills 2‘_%‘;?%;“‘:"“.1:: 1 Adilabad ) Med

C. Yerra Hi (3 Khammam (4) w
o "da , rangg)
D. Raccha i'watangm auorras’ w8 SNk Py Al
Choose the correct aus;,l,;_"'gﬂ Rgddy 4o DoRd O e
& 200 D 2OD0GA. : {l}u&ﬂ"ﬁ'ﬁ @ m.ﬁ%[:ﬂ‘] T’l"‘l’ﬁm
il which among the followio, -
:J;;t .: List. e sﬂu:;hem+mnstg district wmﬂ the
) {%w% recently re-organised disiicyg u:}
A. ©l03n0 Bedd | ) Telangana?
7 ' ﬂé.]kﬁ 1) Mahbubnagar (2) Jomarh, Gadw
B. SotsS Socen 2. 3o (3) Nagarkumﬂ;lﬁd (4) Wanaparthi
C. 8Botiey - 3. et ; alil 3 « 5 ggm e :Jébg_ﬁ
D. oy Sotw " 4. darn B4

A axgpard J06 (2 immﬁé
300 DDFL Motk VD BITWO b | By b $6r)® (4) S
datod: 94, Which' of the following are major

4 objectives of economic development?

{% i...}; %j Eﬁ" Eg VA Achieving higher rate of growth
3 A4 B3 C-1, D2 | B. Giving importance to impot
2 RO C4 D- ¢ promotion policies
@y "A3, B2, €4, D ' . C. Enhancing the share of agrcultural
90. Kuntala Water falls is located on % sector in the gross domestic product
(1) Penganga river (2) Kadem river D. Enhancing the standard of Iving
(3) Swamna river (4). Pranahita river - and ensuring economic ad sl
Srod0 BOTT (0 S0: s
' E}E Tﬂﬁgt objectives are: -
1) D ot SO gGo Nb i and Donly (2) Bandlo)
() (2) 9 " ;{\3) Aand Conly (4) B andD'JF'lF X
(3) PSS (@) ard Lm TBS' 0gedHQ DT uﬁwm'
91. Clim%te of Telangana is A 008 b0 B0 FBodce
(1) Temperate Humid 1
(2) Tropical Semy Arid 1 Srood Per s mﬂwﬂ'ﬁ
(3) ropical Ari _ HC prodre s’ :-;ﬂ'cﬁ:ﬁﬂ‘
(4) Tropical Humid ' . Dz .
Mﬂﬂﬁ%%&é%& & _*'#ﬁgmg-w:}mﬁﬁ
: _ - Arad
E“,{ :}m%&‘gug . GAErRy 3pfyothd 5@3‘
850 = ﬁawm@ammmﬁ o
@ aga:oﬁ-uegw.:q,mﬁ O “mmﬂmﬂﬂwcﬁ
(3 agmo&u Boly, e

(4) &g vodew of i wc
1747



9s,

96.

(1) 28 DodS0ot adyd 3D %:a:»

A
mong e inllf;:wll'lb*

at achjey;
o ieving the obi*

(1) Tentl-. Five vear P1aN
[2} ElE'l., 'Ent':-:;i::::’eﬂr Flﬂﬂ
(3) Eighth Fiye yesr P1o"
(4) Ninth Five Year P17
=1 Toelest m@ﬁ Iﬁ;@
) D008

&3 Vosad a0
(1) D pepgs A2 ::cjﬁadbgﬁg'

(3) e peds@ 000 978

Which one of the following atatemaﬂlﬂ |

138 NOT correct? '

(1) National ingome is the value 0{;311
final goods and servtces pm-dpéﬂd
including net m{:ﬂme

(2) National income is thﬁ m

which is left with the mdw:;luas 1

after payment of all direct taxes. ]
(3) Natmﬂaﬁm income  includes ® ﬂlﬂ;'
contribution of primary, $eco
and tertiary sectors.
(4) National income includes pa ts g
to all factors of production.

200 DOFEHGE 0b) v 0
o). 9 D7

S0 DU Dwd ;bng-ag 283 &

NSC . wErardy  g0bhd

2rdosraraio. 95
@) %) 95 S8 Ny g

(3) POIEHS st

‘;1) AT aos ﬂ.ﬁl ‘ :

(n “ ta system in India is;

CRresgive (2) Hlbhlyml-'.mp,g

A (4) Proportioy, ®

Yo'y el e A DAL Doniy,

Ao 3
G0

(n O8ma,
B obmay

(2) ©08 diis,
(4) Dayde

Which one of the followingis NOT
With regard 1o Mahatma Gandhi

National Rural Employment Gﬂaramu
Act?

(1) Wages will be paid on montly
basis.

(2) Panchayati Raj institutions will
have the principal role.

(3) It provides atleast 100 days of
guaranteed wage employment in a
year.

(4) One third of the beneficiaries are

women.

Soiper, mod erdad Toon ed0 P
ko / DESOD Dowoed $o0 S0 0
2306 sd?

(1) dodd STV 2Boerd.

(2) & HEse wAS’ éﬁ'@;’ C
HomradTd HoRed aron.

Ld DodBGos' 80 100 %
455 630D €Dl 500 & o’
000

di:; UEM 2apdob &8 S |

;w wod GorD.

(3

(4)
ITJTI



- 99,

Read the fﬂllm’-’i“b' statemenys:

A. The All ndia GDP E"ﬁwm )
2015-16 & constant pric.. e in
'l.'|..

7.9%.

P gro
GSD growth il

B. The
in 201_5-

16 of

2015-169. nodd G6u8' edy s

‘.EJ‘EJ lfrr%d.'i? ﬂ:f_:f :I;L% 8 7%

aobd.

B. 2015-168° ned Gous duma

g Y ot 60y

-ﬁ;ﬁ Bew 7.9%IT &old.
Q -

(GSDP)

(1). A, B Tt 205D

(2) A.BDo&r 25339 T

100

B.

ollowin® statements:

read the f s
A The avcragﬂ’ sex ratio in 2011 in

| Telangana is Jower than that of the
rage: - .

natinnal ave
The average® sex ratio in Hyderabad

in 2011 18 _higl_'iﬂf than that of
Khammam gistrict in un divided
Telangana: :
which of the statamerlts is/are correct?
(1) A only
2) B only
(3) Both A and B
(4) Neither A nor B
206 DIOEVI S0
Y 20116° aﬁ'ﬁﬂﬂnﬁaé‘.ﬂ Dot 1}33*2-5'
: -ﬁ'ﬂaa"q_}r:‘-i auarm:aﬁ‘ Dort 3
aé;bn.
20)0 2erd'D - Dol 326
eS0T GOl
Sod DINTOV Bool DO s PN e

dotood:

4
B DD0med A sobako B 30T 50
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